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CSS
LIBRARY AND INFORMATION SCIENCE

General Instructions

1. The Question Paper is having two Parts — Part ‘A’ Objective type (60%) & Part ‘B’
Descriptive type (40%).

2.  Objective type questions which carry 1 mark each are to be (v) ‘tick marked’ in the
response sheets against the appropriate answers provided.

3. 8 questions are to be answered out of 12 questions carrying 5 marks each in Part ‘B’.
Negative marking : 0.25 marks will be deducted for each wrong answer
in Part ‘A’

Time : 2 Hours Max. Marks : 100

To be filled in by the Candidate

Register | in Figures
Number

in words

PART — A
(Objective Type)

Choose appropriate answer from the options in the questions. One mark each.
(60 x 1 = 60 marks)

1. Computer memory is measured in
a) Bytes b) Megahertz
c) Decibles d) Lux




2.  Who is the longest-serving Chief Minister of West Bengal?
a) Mamata Banaerjee b) Profulla Chandra Ghosh

c) Jyoti Basu d) Ajoy Kumar Mukherjee

3. Animals which eat only plants are called

a) Carnivores b) Herbivores

c) Omnivores d) Detrivores
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10.

11.

Harappa and Mohanjo-Daro belongs to civilization.
a) Mesopotomian b) Indus-Valley
c) Chinese d) Egyptian

Select the correct word used with ‘Neither’
a) Even b)
c) Either d)

The climate of Jaipur is
a) Hot b)
c) Hottest d)

Or
Nor

than that of Shimla.

Hotter
Good

The process by which green plants make their own food from carbon dioxide and

water using sunlight is called

a) Photosynthesis b)
c) Parasynthesis d)

is the ancient text in Medicine.
a) Varahi Mihira b)
c) Arthasastra d)

GUI stands for .
a) Graph User Interface b)

c) Graphical Unique Interface d)

Polysynthesis
Metasynthesis

Brihat Samhita Mitaksara
Sushruta Samhita

Graphical Use Interface
Graphical User Interface

next month’. Identify the correct answer.

a) will publish b)  will be published
c) will be publish d) published
is the volatile memory in computer.
a) ROM b) WORM
c) RAM d) PROM
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12.

13.

14.

15.

16.

17.

18.

19.

First President of USA was

a) George Washington b)
c) Bill Clinton d)

Oldest Library in India

a) National Library of India, Kolkota

) Connemara Public Library, Chennai
) State Central Library, Bengaluru
)

o O T

Which of the following are rich in protein?

1) Lentils 2) Pineapple 3)
Answer :

a) 1&2 b)
c) 3&4 d)

Solar Eclipse occurs

John Adams
John F. Kennedy

Khuda Bakhsh Oriental Public Library, Patna

Potatoes 4) Eggs

2&3
1&4

a) When Earth comes in between Moon and Sun

b

d

The First Education Minister of independent India was

)  When Moon comes in between Earth and Sun
c) When Sun comes in between Earth and Moon
)  When Venus comes in between Earth and Sun

Dr. Zakir Hussain
Jawaharlal Nehru

26 January 1956
26 January 1948

a) Dr. S.R. Radhakrishnan b)

c) Maulana Abul Kalam Azad d)
The ‘Constitution of India’ came into force on
a) 26 January 1950 b)

c) 26 January 1947 d)
IPR stands for .

a) Indian Property Rights b)

c) Intellectual Property Regulations d)

is not a Philosopher.

a) Plato b)
c) Charles Babbage d)

4

Indian Press Rights
Intellectual Property Rights

Aristotle
Immanuel Kant
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20.

21.

22.

23.

24.

25.

26.

Books lost in the library is known through

a) Charging and discharging
c) Shelf List

Resource sharing is a part of
a) Library cooperation

c) Library management

Call Number of a Book means
a) Book Number

c) Both(a)and (b)

Emperor Ashoka belongs to

b) Stock Verification
d) Shelf reading

b) Library administration

d) Library cataloguing

b) Class Number

d) None of the above

a) Nanda
c) Chola
GST stands for

a) Goods and Sales Tax

c) Goods and Self Tax

Every published book is identified with a unique number called

a) ISSN
c) ISBD

dynasty.
b) Chalukya
d) Maurya

b) Goods and Services Tax

d) Gold and Silver Tax

b) ISBN
d) ISIN

Who invented the technique of treating milk to stop bacterial contamination?

a) Marie-Curie
c) Louis Pasteur

b) Rene Descartes
d) Jagadish Chandra Bose
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27.

28.

29.

30.

31.

32.

33.

Which organization is the key government body that offers launch services to

Indian and foreign satellites?

a) ISRO b) ADA
c) GTRE d) NAL
budget is not based on previous budgets.
a) Performance Budget b) Incremental Budget
c) Line Budget d) Zero-based Budget

Which of the following name is associated with ‘Facebook’?

a) Mark Zuckerberg b) Tim Bernes Lee
c) Henry Fayol d) Bill Gates

Library Tour is a type of

a) Adult Education b) Reference Service
c) User Education d) Referral Service

The king who established the first library in Kerala is

a) Marthanda Varma

b) Swathi Tirunal Rama Varma
c) Pazhassi Raja
d) Kerala Varma Valiya Koil Thampuram

|dentify the missing number :

4 | 8 | 20
9 | 3|15
6 | 6 | 2
a) 18 b) 39
c) 45 d) 90

“‘My Experiments with Truth” by Mohandas K. Gandhi is a

information.

a) Geographical b) Biographical
c) Travel d) Historical

source of
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34.

35.

36.

37.

38.

39.

40.

Present Vice-President of India is )
a) Ram Nath Kovind b) Rajnath Singh

c) Mohammad Hamid Ansari d) Venkaiah M. Naidu

Which State in India is called Dev Bhoomi?
a) Uttarakhand b) Jharkhand
c) Tripura d) Assam

Which of the following gives geographical information?
a) Directories b) Gazetteers

c) Dictionaries d) Encyclopedia

Olympics 2021 will be held in
a) USA b) UK
c) Switzerland d) Japan

Which of the following dictionaries has largest number of volumes?

a) Random House English Dictionary

b) Webster’'s English Dictionary

c) Oxford English Dictionary

d) American Heritage Dictionary of English Language

‘The little girl tried to her brother when he broke his toy’. Select the
correct answer.

a) Condone b) Condoned

c) Console d) Compensate

‘The boy his mother that he would certainly do well in the
examination’. Select the correct answer.

a) assured b) guaranteed

C) swore d) ensured
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41.

42.

43.

44.

45.

46.

47.

LED Bulbs are more popular than ordinary bulbs because they give

a) more light and more heat b) more light and less heat

c) less light and more heat d) less light and less heat

Internet Explorer is a

a) Search Engine b) Web Browser

c) Meta Search Engine d) Blog

Which of the following are the parts of ‘Encyclopedia Britannica’?
1) Micropaedia 2) Macropaedia 3) Wikipaedia 4) Propaedia
Ans :

a) 1,2&3 b) 2,3&4

c) 1,3&4 d) 1,2&4

Covid — 19 mainly affects system in human body.
a) digestive b) respiratory

C) nervous d) cardio-vascular

The cooking gas (LPG) mainly consists of
a) Butane b) Ethene

c) Ethyne d) Propene

Who heads the Niti Aaayog as its chairperson?
a) President of India b) Prime Minister

c) Finance Minister d) Home Minister

Which of the following government schemes ensures employment in rural India?
a) Ujjwala b) MGNREGA

c) Kisan Sarvodaya d) Operation Greens
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48.

49.

50.

51.

52.

53.

54.

Where is the India’s permanent research station ‘Dakshin Gangotri'?
a) Great Himalayas b) Indian Ocean

c) Antarctica d) Arabian Sea

Which of the following is the reason for the decline in birth of girl child in India?

a) Low fertility rate

b) Faster population growth
c) Incentives for a male child from government
d) Female foeticide

Which of the following is not a geographical source of information?
a) Information Please Almanac b) Fodor’s India

c) Atlas d) Karnataka Gazetteer

Which of the following is a communication protocol on Internet?
a) TCP/IP b) ERNET
c) FTP d) SMTP

is the largest library in the world.

a) British Library, UK b) National Library of Russia
c) National Library, India d) Library of Congress, USA

Central Food Technological Research Institute (CFTRI) is located

a) Mysore b) Bengaluru

c) Lucknow d) Chennai

Who was the first foreigner to visit India?
a) Hiuen-Tsang b) Vasco da Gama

c) Megasthensese d) Fahien

at
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55.

56.

57.

58.

59.

60.

Which of the following plays is not written by William Shakespeare?
a) Hamlet b) Macbeth

c) The Pickwick Papers d) The Merchant of Venice

Which Indian Movie has won Oscar award?
a) Slumdog Millionaire b) Ben-Hur
c) Titanic d) The Lord of the Rings

‘Multiple cropping’ refers to :

a) Cultivation of wheat and rice

b) Cultivation of two crops in alternate rows

c) Cultivation of two or more crops on the same piece of land each year
d) Cultivating crops and rearing animals on the same farm

Who is called father of ‘White Revolution’ in India?

a) Dr. Verghese Kurien b) Dr. MS. Swaminathan

c) Dr.C.N.R.Rao d) Dr. A.P.J. Abdul Kalam

Look at this series: 7, 10, 8, 11, 9, 12, . What number should come
next?

a) 7 b) 10

c) 12 d) 13

‘Neeta is a very good painter. But, she is not a good singer’. Identify the proper

noun.
a) Neeta b) Painter
c) She d) Singer
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ANSWER SHEET — PART - A
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10.

11.

12.

LIBRARY AND INFORMATION SCIENCE

PART - B
(Descriptive Type)

Answer any eight questions.

Salt Satyagraha / Dandi March.

Discovery of India: a book by Jawaharlal Nehru.

Nuclear Program of India.

Strategy for population reduction in India.
Covid-19 Pandemic.

Types of Libraries.

Secondary sources of Information.

Web 2.0 services.

Public Library System in India.

Indus Valley Civilization

Impact of social media on youth.

Solar and Lunar eclipses.

13
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